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1.  Answer the followiﬁg questions :

wﬁmm@mﬁm

()

-(b)

©

(d)

(e)

() |
()

29T CSCA

What is a deriv_ed class ?

Derived class & ?

Definie Queue.

Queue I 4 |

What is visibility mode ?
Visibﬂity mode & ?

What is a linear data structure ?

‘Linear data structure & ?

IXS=8

Write the name of ‘any one operation performed on STACK. .

STACK -® 7l R4 91 RPAr 9% operation -3 7 B4y |

Define inheritance.

Inheritance 3¢ <47 |

What is Internet ?
TORED 2
What does FRONT signify ‘in a qﬁeue ?

Queue 5% FRONT-¢ & I 2
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2. Answer the following quest}ons ;

2x10=20

T e B

(a)

(b)

(c)

@

. {e)

When is a copy constructor called ?

Copy constructor 46! (FS call I W ¢

Write two differences between primitive and non-primitive data

types. _
Primitive S non-primitive data type-3 W& 70/ 227y ferdi |

Differentiate between linear queue and circular queue.

- Linear queue ¥ circular queue-d Trem A1 wedfta |

What is POS ? Write with example.
POS &2 Trigsd 377 f&iadf |

Draw the logical circuit ciiagram for DeMorgan’s first theorem.

DeMorgan-< &2 BoA=IIT AT TGS SIS B i |

) Differentiate between LAN and WAN.

(g)

(71)

LAN % WAN-S We9 #iiey weffat |

What is the role of a switch in a network ?

_ Network-$ switch «biF g & ¢

Differentiate between static and dynamic allocation of memory.

Memory-3 static ™% dynamic allocation-¥ e IR WC‘ﬁﬁTI
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How are files in binary format different from files in text format in

C++?

‘C++ ¥ text format-3 W bmary format-¥ Ti2e RSP FOIE

o

(@)
0]
3. (@
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What is bandwidth ? How is it measured ?

Bandwidth &2 2% (ST (St =2

Rewrite the following program after removing the syntétic error (s)
if any: B 3
Wﬁtﬂﬂtﬁ—nﬁﬁw—ﬁwmmmﬁwﬁaw

include <iostream.h>
class BUS
{ long Bus No;
~ char Description [30];
“public
void Entry ( ) |
{  cin>>Bus No; gets (Descriptidn);
} ;
~ void Show () -

{  cout<<Bus No<<":" << Description<<end]; .

}
- ,
void main ( )
{ Bus B; .
EntryB ( );
Show.B ( );
}
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(b) Answer queétioris (i) and (i) after gding through the following code :
, n _ 1+2=3
% code (1 R TR () O (i) e Beq B
class EXAM | | .‘
{ int Rno, Tétal, Min, Marks;‘
public : i _
EXAM ( ) // FUNCTION 1
| { Rno = 201; Total = 100;
Min = 45; Marks = 75;
} ; .
EXAM (int Trno, int Tmarks) // FUNCTION 2
{ Rno = Trno; Tbt_al = 100; |
"Min = 45; Marks = Tmarks;
} | ] ,
~ EXAM ( ) // FUNCTION 3
( cout << “EXAM ENDS” << endl;
R - |
-void show ( ) /4 FUNQTION 4
{ cout << Rno << “7 << Total <<":" << Min << end];
* cout << “[MARKS]” << Marks << endl;
} 3 -
'
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(c)

@
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(i) Which concept of Object Oriented programming is illustrated

by Funcion 1 and Function 2 together ?
Fun;ion 1 @i Function 2-@ tﬂmﬁ | object c-)riented :
| ‘programming-J (IRCET Qi=el ?TFQUT?@'C‘??
(ii) What is Function 3 specifically referred as ? When will Functiron
3 be invoked ?
Function 3 % ﬁfﬁ%z‘cas & 3f1 B T (wrr? Function 3 o

invoke ¥9l ¥9°?

Write a C++ function to find the sum of diagonal elements from a
Two-dimensional array of type float. Use the array and its size as

parameter with float as its return type. | ' e

float type—a I%NTF?“]%I?T o Aq F1 cﬁaﬂ'{a (RN ARR A BT

C++ T &2 | “]W'CT'H 1R 3?11? 51ze parameter IR 7R A TIT(._-
return type float Al

Write an algorithm for the evaluation ofl POST FIX expression. - 3
Post Fix e;(pression-"{ L W o T3 AR 9o al‘gorithm ’[%anl

| Or/ <t '
Write an algorithm for perférming insertion in linked queue. 3

Linked quéue -9 insertion A4 TIR AR «oI algorithm %‘-‘QT |

. 18]



(e)

0

Explain the concept of Cartesian Product between two tables, with

the help of éppropriate example. 1+2=3

744 table-§ &S Cartesian Product-3 YFEIC6 TATE THIZAT LTS
I 4 | ' - |

Or/ 9t

'Explain how SQL UNION operator works ? Give example. -3

SQL UNION operator-4 (FGAWCE 1 T =0 5 | St fdt |
Write an SQL command to create a table (employee) with the
followiﬁg attributes :’ ’ 1+2=3

©eTd attribute FIZI (Y @47 table (employee) @ R AW SQL

command %ﬁﬂ g
ecode integer
ename  char (25)
grade  char (2)
gross decimal

Set ecode as the primary key of the table. The attributes should not

allow NULL values. Ensure that values inserted for gross must be

| greater that 1000.
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ecode -(B! table ¥9¥ primary key 25109t set 31 | Attribute TR NULL
value 7% allow 3 et | gross-9 A W@@@ T A R S
1000%@@@@@%@11 ‘ |
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Or/ 9t

Eipl'ain UNIQUE, PRIMARY KEY and DEFAULT Constraints with

the help of examples.

UNIQUE, PRIMARY KEY ®i¥ DEFAULT Constlamts W"ﬁ AYTO

- g 3

- (9)

Draw the logic circuit diagram for the fdllOwing expression : 3

 oors it AR A A R B i

()

Y=ab+bc+ca
Or/ @l
Write and prove the Absorption Law. - - B

Absorption st ferat e ey w4

Verify the foIlowing algebraicaﬂy-; | o ‘ 3
| %ﬁﬂﬁ@ﬂ@@ ‘Eﬁ’ mﬁm ol T :
(A+B) (A+B) AB+AB
Or/ RS
Reduce the followmg Boolean expressxon usmg K -Map : - .3

K-Map W LR _Gﬁ' Boolean TG ﬂ\ﬁ"@W‘T W E

EP.ORS) = 11(0,3,5,6,7,11, 12,15)

(i)
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Explain any three network topologies for nefworks. ) o 3
Network-3 @ A fofd 4101 network topologiés EIE| qsaﬂ
(8] ‘



Or/ 27!
Write the differences between GPRS and WLL. ' 3

WLL ®liF GPRS- WEd “iiefay 3z forall |

4.  Write a function in C++ to count the number of “He” or “She” words

present in a text file “STORY. TXT.” If the file “STORY. TXT” content is as

~ follows : 5.

I/ “STORY.TXT” file-¥ content Oo® TWal 4399 =¥, (OfoA text file
“STORY.TXT” © 28 “He” Al “She” =g 59wl SRIE A Of C++ T

“He is going to market. She is cooking in the kitchen”.

The output of the function should be as follows‘:

Woutput_c"l—ﬁm@%m@ﬁ_

COUNT OF He/She in file is 2
Or/ &1
‘Write a program in C++ to exchange the positions of string stored in an
array using array of pointers. 5

Array of pointers JI2T IR *ee oI store (T QH‘ST smng—a W -
'WWWC++\9uﬂﬁiﬁtﬁﬁﬁ‘ﬁl . |

5. How does the access of inherited members depends upon their access
specifiers and the visibility modes of the base class ? Explain. | 5
Inherited member F¥2< access o ﬁ!ﬂ base class—¥ access spec1f1er IS
wvisibility mode FIT-?E oS ST FE I 4|
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Or/ @2t

What is constructor overloading ? Write a program in C++ to show
constructor overloading. | ' ' 5

constructor overloading f&? constructor overloading MARE AW C++ ©

<51 eraw Rl

6. Define a class to represent batsmen in a cricket team. Include the following
members : | o ‘ : 5
&0 el GBS batsmen represent I AR Ao _class define W‘I Oeq

member 2 @'\‘5\?@ <l 8
DATA MEMBERS :
'EIRST NAME
LAST NAME
' RUNS MADE
NUMBER OF FOURS
NUMBER OF SIXES
‘MEMBER FUNCTIONS -

(i) To assign the initial values. -

(ii) To update runs made.
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(iii) To display batsman’s information. 4

.- Make appropriate assumptions about access labels. |
- Or/ 93

What are static data members of a class ? Explain the characteristics of a
static data member.
, Write a program in C++ to suppért your answer.
" Class uﬂﬁﬁ static data mernber ‘-ﬂ{i f? static data member—? m
QR 1| ﬁWhWQﬁWC++\9 o1 e e |
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